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Drôle
d'analyse
où
toute
note
étrangère
est
oubliée,
élidée,
transfigurée.
En
effet
ce
qui
peut
nout
paraître
comme
Broderie
poétique,
Notes
de
passage
dans
les
gares,
échappées
belles
etc
...toute
ce
que
les
musicologues
ont
appelé
notes
étrangères
à
défaut
de
wisigoths,
ostrogoths,
celtes,
mari
et
femme
...le
cycle
des
5tes
y
a
bâti
son
église
...

Tout
cela
pour
dire
avec
humour
que
le
cycle
selon
que
l'on
le
monte
(/)
ou
que
l'on
le
descende
(\),
on
y
puise
jusqu'à

sasiété
toutes
les
notes
dont
on
a
besoin,
c'est
à
dire
12.
En
effet
le
notes
celtes,
bretonnes
si
vous
préférez
peuvent

être
tangentes
au
demi-ton
ou
au
Ton.
Pareil
pour
les
appuis
appogiaturés,
pareil
pour
toutes
les
affeti,
les
affections
entre
notes.
Mais
je
m'égare,
ce
que
d'ailleurs
nous
faisons
tous
lorsque
nous
dialogons
avec
les
planètes.
Il
est
urgent

pour
se
rassurer
de
lire
Erri
de
Luca
et
sa
façon
éthérée
de
concevoir
ce
qui
nous
entoure
...


Et
donc
examinons
comment
ce
fragment
est
né.
C
surligné
rgo
indique
que
cette
note
est
la
5te
de
départ,
celle
sur
laquelle
va
s'appuyer
notre
discours.
Vient
ensuite
E,
la
4e
[5te]
descendante
(C\G\D\A\E).
Nous
ne
comptons
pas,
bien
sûr
le
C
noté
rg0.
A
propos
que
signifie
rg
?
Même
si
vous
l'avez
deviné,
rg

signifie
'rang'
.

Dessous
le
D
du
Violon
1,
le
violoncelle
joue

un
Bb.
Ce
Bb
est
la
2e
[5te]
desc.
en
partant
de
la
finale
C.
On
le
note
donc
rg2\
(le
slash
\
a
été
oublié).
Tout
à

côté
est
le

A
appartenant
comme
toutes
les
autres
notes
au
cyle
des
Quintes..

Comme
il
s'agit
de
la
3e
[5te]
desc

(C\G\D\A),
on
le
légende

rg3\.
Avant
que
la
mesure
ne
s'achève,
au
violon
1
se
trouve
un
Bb.
C'est

la
5e
[5te]
asc
du
cycle
en
partant
du
C

(C\G\D\A\E\B

=
rg0
rg1\
rg2\
rg3\
rg4\
rg5\
),
nous
l'avons
donc
légendé
rg5\.
Et
ainsi
de
suite.

A
la
mesure
2,
une
modulation/tonulation
s'opère.
La
note
finale
notée
rg0
change.
Ce
n'est
plus
le
C
mais
le
D.
C'est
donc
à
partir
du
D
que
nous
allons
examiner
le
cycle
des
5tes
et
grâce
à
rg0
rg1
rg2
rg3
rg4
rg5
voire
rg6,
ascendant
ou

descendant
nous
pourrons
écrire
un
beau
contrepoint
..

Contrepoint
vecteur
V
(5)
2
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